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Her notes were all over the place, so she couldn't find the important information.

@ easy to find

@ scattered and disorganized

@ written clearly and simply

@ in the correct order and well-structured

® neatly written with no errors
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(1) My dad is trying to (cut down on/ cut down) smoking.
(2) This document is too long. You should (cut down on / cut down) it.

(3) We figured we should (cut back on / cut back) eating out to save some money.
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Jayden:I'm going to the concert next weekend. Do you want to join?

Kevin: Sounds amazing, count me in!

@ I'm down @ I'mup forit
@ I'mout @ | want tojoin
®I'min
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